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Using Ohm's law and the node voltages, find the currents for all the resistors in the
above circuit.
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The difference N node Voltages gives
the Vcl-{:aﬂe dr‘op adress each resLS‘Eorj
and Ohm's law %'IVG:S the aurrent. The
foLLoanﬂ table lists v-drops and
currents (measured with arrows poin“l:'mg
Aown or +o the !‘Egh'f:) of each restster.



R Q. v~drop L= V"‘A‘l‘cp/ R
Ry |2K V-4V = 15V | 7.5 mA

R, | 1K v -4V = 15V 15 mA

Rz | 3K 4V -1V = =12V | —4 mA
Ry [0k Yy ~16V=—12V | .2 mA

Rg 1.5k aqy -3V = &V 4 mA

Re |12k IV ~06V = 3V 0.25 mA




